


6. Class Simple.
Putting torque into a rectangular posted arch where there is reduced incisal show
A. You need to nibble a gentle curve downwards in the wire between the posts. You should not use light wire pliers to do this, because the curved beak of the pliers will put uncontrolled torque into the wire. Instead you need special Tweed pliers. They are designed so that the beaks are parallel when separated by 0.022 inches. Try many tiny bends using the Tweed pliers and also try the Tweed arch contouring pliers. The more you curve the wire down the more torque you will put in.

[image: Hands in blue gloves holding a wire
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B. Hold the wire at one post and lift it up at the front until the front section looks parallel with the floor 
[image: A close-up of a person cutting a nail
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C. Now lift the distal arms until the wire lies flat
[image: A close-up of a wire

Description automatically generated]
D. Examine the wire. You should see that you have placed palatal root torque and that the wire is flat. The amount of torque you have put in depends on how big the downward bend is. Try again you are aiming for 7°

7. Class simple.
Putting in a reverse curve of Spee in a lower posted arch where you want to procline the lower incisors
A. Wipe in a reverse curve of Spee to give bite opening
[image: Hands in blue gloves holding a pair of scissors
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B, Hold the wire in the Tweed pliers and see how much torque you have put in the wire.
[image: A close-up of a hand holding a scalpel
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8. Class Simple.
Putting reverse torque into a lower rectangular archwire when you are putting in a reverse curve of Spee so that you don’t over procline the lower incisors
A. You need to nibble a curve downwards (i.e. the same way as the posts)
[image: A close-up of a person holding a string
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B. Lift up the distal arms by 7°
Now you should have a flat posted arch with 7° of lingual crown torque in the incisor region.
[image: A close-up of hands in blue gloves holding a wire
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C. now wipe in your reverse curve of Spee.
[image: Close-up of hands in blue gloves holding a wire
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E. Examine the wire you are hoping for zero torque
[image: A hand in blue glove holding a scalpel
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f. Try again

9. Class Simple
 Placing progressive buccal root torque
A. Place the upper posted wire on the table and mark distal to the 7s
B. Bend the ends up at these marks this will leave the ends sticking up.
[image: A close-up of a wire
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C. Holding the wire in the canine region 
D.  Now twist these sticking up ends outwards until they go off the vertical by 15°
[image: A close-up of a person's hands in blue gloves
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E. Examine the wire it should be Zero degrees on the canine and up to 15° on the second molars.
10. Class Advanced
016 arch with “U” loops in front of the molars to push the incisors forwards
So easy to bend on a typodont of a model but no cheating you cannot stick 5cm of wire back past the 7. This is how you do it:
A. you need two bits of wire bend both into an arch form
On the first piece bend a U loop so that it leaves enough wire distal to it to go through the left molar tube. Re adjust the arch form.
[image: A hand holding a scalpel
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B mark the midline carefully and place on one side
[image: Hands wearing blue gloves cleaning a model of teeth
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C Using the second piece of wire do the same for the right side and again mark the midline.
[image: A hand holding a scalpel
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D. Now hold the two wires together so the midline marks are together and this allows you to mark where to bend the U loops on the right side on the first wire.

11. Class Advanced
Stabilizing arch in 016 special . Very useful but only if you have double tubes on your lower molars, this wire threads under the NiTi wire and gives it vertical stability so that it will behave like a full steel wire and you can use class II elastics
A. Bend an archform
B. Mark the mesial of lower left 6 tube
C. Bend down at this point and then 2mm down the wire bend forwards restoring the archform.
[image: A close-up of a model of teeth
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D. mark between LL2 and LL3 and bend up by 6mm then forward to restore the archform.
[image: Hands wearing blue gloves holding a model of teeth
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E. Mark between LR 2 and LR 3 and bend down by 6 mm then backwards to restore the archform
F. Mark mesial to LR 6 tube and bend upwards by 2mm then backwards to restore the archform
G put in 30° anchor bends
[image: A close up of a candle
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[image: A model of teeth with metal braces
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12. Class Advanced. 9the wire bending easy but getting the exact length is more difficult)
Expansion arch to be threaded onto a posted archwire in 018 special or similar (0.20 would give you even more expansion but is a little more difficult to bend)
A. In this case the wire is not bent into an archform but try to make it straight.
B. Bend a circle hook at 90° to the main archwire. This hook slides over the archwire and fits into the space between the 5 and 6
[image: A close-up of a needle
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C  Use a bit of bumper sleeve to measure the distance between the 5/6 space on each side. Or you can use a spare piece of wire or measure on the study models (If the teeth haven’t been moved forwards)
[image: Close-up of hands wearing blue gloves holding a metal brace
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D Bend the circle hook on the other side. Slide the finished wire onto a posted wire and note how much expansion gives you. Note you have to place the expansion arch onto the main archwire BEFORE you put the wire in the tubes and guide the circles into the space between 6 and 5 each side.
[image: A close-up of a finger touching a ruler
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13. Class Advanced
 Kitchton torquing auxiliary bent in 014 special or special plus this is an auxiliary spring which is placed under a main archwire to produce palatal root torque on the upper central incisors. It can be bent in advance and will fit in any case.
A. Take about 10cm of wire and bend a circle hook in the middle
B. Bend down both sides of the circle. So now it looks like a round head on top of a long thin body.
[image: A close-up of a needle
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C. 5mm down on each side of the body bend out at 45°. It looks like the body has a skirt. Up to now the wire will lie flat on the table.
D. 9mm down the skirt bend upward at 90° but also out off the table by 15°
[image: A close-up of a blue ball
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E. About 5 mm up bend hooks coming forwards and then cut the wire.
[image: A close-up of a wire
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F Note how the Kitchton Torquing auxiliary fits in and in particular note that it needs to be tied in.
[image: Close-up of a person's teeth with braces
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14. Class Advanced
Putting in torque using two pairs of Tweed pliers. This works for one tooth and also for both centrals or both premolars.
A. Using a preformed archform mark either side of the bracket requiring torque. In this case we want 10° of buccal root torque on the upper right lateral incisor.
B. Using the two pairs of Tweed pliers hold the wire on the distal mark
[image: Close-up of hands wearing blue gloves holding a pair of pliers
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C. using the mesial pair of pliers twist the wire so that the left side of the wire moves up to an angle of 10° to the left side
[image: A close-up of a needle
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d. Move the pliers so they straddle the mesial mark using the mesial pair of pliers twist until the left side lies flat again
[image: Close-up of a pair of pliers cutting a string
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15. Class Advanced
 Putting in torque using male and female torquing pliers. Using a pre-formed archwire
A. Mark either side of the bracket
B. Hold the female pliers straddling these marks, holding the pliers as is from the centre of the archform.
[image: Close-up of a pair of pliers
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C. Using the male pliers approach from outside the archform, Hold the central portion of the wire and bend it with a twisting motion. Note this is an easy thing to do but have you produced the right amount of torque in the right direction. Try to put 10° of buccal root torque on both lateral incisors.
[image: Close up of a pair of scissors
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16. Class Advanced 
Putting in torque using female torquing pliers and a key.
A. Mark either side of the bracket
B. Hold either side using the female pliers holding the pliers approaching from the centre of the archform
[image: Close-up of a hand holding a wire
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C. Place the key over the central section and twist. Again the difficulty is to produce the desired amount of torque in the correct direction.
[image: Close-up of a hand holding a pair of scissors
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17 Swinging gate 016 special (For the exercise we are placing a swinging gate for LL2)
A. Bend an archform. 
B Mark mesial to LL3 and bend down 7mm complete to a “U” bend.
C. Mark level with the bend down and restore the arch form.
D. Mark mesial to LL2 bracket and bend an exactly similar “U” loop. 
[image: Close-up of a person's mouth with braces

Description automatically generated]
E. Restore the archform.
F explore the uses (i) expand the swinging gate to open space for LL2
(ii) Put rotation into the swinging gate.




18.  Class Advanced. More a piece of history than an exercise Tweed edgewise was in widespread use until 1985 when Straight-wire replaced it. In Tweed edgewise the brackets all had zero torque and tip and you had to bend an upper archwire with 13of zero on the canines and 10° of buccal root torque on the premolars increasing to 15° on the molars easy with a Loper turret. 
Using a Loper turret. Once an important bit of kit the Loper turret is now much less important. You can take a straight length of rectangular wire and bend it into an archform. Now-a days it is cheaper and quicker to buy a pre
formed archwire. The Loper turret allows you to bend a curve with no torque or with added torque. Turrets ate available for 018 or 022 wire if the wire is a loose fit it will add extra torque
A. Identify 018 and 022 turrets
B. place the wire in the slot. It goes in edgewise on.
[image: Hands wearing blue gloves holding a metal cylinder
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C. Hold tight and twist the end letting the rod slide under your thumb
[image: Hands wearing blue gloves holding a metal tube

Description automatically generated]
D identify how much torque you have placed and therefore which way up the wire is.
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